Inverse Trig Functions

1 s — 1 f T ) resen
If sinx = 2 then x = sin ! (—)i i

We also call this arcsin(a) S0 we say x = arcsin(i)

The inverse trig functions are known as

y = arcsinx,y = arccos x, y = arctan x

They are inverse functions, hence
* They only exist for a one to one function

They map from the range of the original function back to its original domain
The graphs are reflections of the original in the line y = x.

Inverse Trig Functions

You need to know how to sketch y = arcsinx,y = arccos x, y = arctan x.
(Yes, you could be asked in an exam!)

We have to restrict the domain y
of sinx to —% <x< %before
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we can find the inverse. Why?
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Inverse Trig Functions

Yy = arccos x

Evaluating inverse trig functions

[Textbook] Work out, in radians, the values of:

a) arcsin (—%)
b) arccos(—1)

c) arctan(m

y = arctan x

You can simply use the sin" ! x,

cos™! x and tan™?! x buttons on your
calculator.

If you don’t have a calculator, just use
the sin, cos, tan graphs backwards.




One Final Problem...
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8. (ii) Given that

y=arccosx, —1<x<1 and 0<y<m

(a) express arcsin x in terms of y.
(2)

(b) Hence evaluate arccos x + arcsin x. Give your answer in terms of 7.

(1)
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